
    

 

    Complète le tableau suivant : 

 

Complète :  

3 + 3 + 3 + 3 + 3 =…… 3……x………5………=……15…. 

9 + 9 + 9 + 9 =……9……x……4…………=……36…. 

7 + 7 + 7 + 7 + 7 + 7 =……7……x……6…………=……42…. 

4 + 4 =……4……x………2………=……8…. 

8 + 8 + 8 =…8………x……3…………=……24…. 

 

Trouve le résultat des calculs suivants puis vérifie avec une    

calculatrice : 

 

En chiffre C-D-U En lettre 

 

…163…. 

1C 

6D 

3U 

 

Cent-soixante-trois 

…………………………………….………... 

Les koalas. 

156 + 230 + 195 + 93 =674e 
 

301+188 + 213 + 50= 852e 
 

166+203+255+35 = 659e 
 

84+231+301+125 =741e 
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797 

484 

 

287 

701 

 

243 

 

742 

804 

768 

 

434 

483 

 

842 

698 

 

495 

 

978 

680 



 

 

 

69 
 
 
138 
 
589 
 
 
456 
 
171 
 
 
816 
 
572 
 
 
740 
 
 
818 
 
598 
 

13 
 
 
15 
 
11 
 
18 
 
 
17 
 
 
12 
 
15 
 
 
16 
 
13 
 
31 
 

2 
 
 
3 
 
6 
 
8 
 
 
10 
 
 
12 
 
14 
 
 
16 
 
 
20 
 
100 
 


